International Indian School Buraidah
Work Sheet-Subject:Maths-(2024-25)
Ch: Trigonometric Functions
Class:XI
Show that :
1-Cos (369 -A) Cos (36° +A) + Cos (540 -A) Cos (54° +A) =Cos2A
2- C0s68°25’ Cos38°25’ +Sin68°25' Sin38925" = %?

V3
3-Sin 329C0s28° + Cos 32°Sin28° = >

tan32915’+ tan12%45’
4-
tan32015’+ tan12945/

5- tan75% +cot 75° =4
6- tan (%“9) + tan (%”+9) =-1
7--Cos (45° + A) Cos (45° + B) - Sin (45° + A) Sin (45° + B) = - Sin(A + B)

tan(45+ 6)+tan (45-6) 1
8- =
tan(45+ 6)—tan (45-6) 2SinfCos6
9-Cos? T +Cos?2Z +Cos?Z + Cos?ZE = 2
8 8 8 8

10-tan 315° Cot(—405° ) + Cot495° tan(—585°) = 2

11-Find the values of :
a) cos 495° (b) Cosec (—585°) (c) cos 1050°
12-If sina = 1—3 and cos f3 =% find the value of Cos(a — )

Prove the following:

tan 560+tan36

= 4cos 20cos40
tan 56 —-tan30

Sin3x +Sin5x +Sin7x +Sin9x

14- = tan 6x
Cos 3x +Cos5x +Cos7x +Cos9x

15- tan (§+9) + tan (%—9) =2sec20
(cosx—cos3x)(sin8x+sin2x) _

_(SinSx—sinx)(cos4x— €cos6x) -
tan (A+B) _ sin* A—Sin®B

Cot(A—-B) " Cos? A— Cos?B
Sec8A—-1 _ tan8A

Sec4A-1 - tan2A
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